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1.

. If the matrix [g

MATHEMATICS

Inverse of a diagonal non-singular
matrix is :

A) Symmetric matrix

B) Skew-symmetric matrix
C) Diagonal matrix

D) Scalar matrix

::]=A+B,whereA

is symmetric and B is skew-symmetric

. thenB=

[0
A)01]

0 -1
B [1 J

0 -1]
C) bzq J
(=10
D) 01]

If Ais 3 x 4 matrix and B is a matrix such

that A'B and B’A are both defined, then
the order of B is

A) 4x4
B) 3x3
C) 3x4
D) 4x3

C) femmof amege
D) aifewr sy

. I T8 [2 3]=A+B,a€fA

5 —1
Tt g R B fen vl sregg
g dAB=

T1 0
A) 01]
[0 -1
B 14 J
[ 0 -1
C) [ J

(-1 0
DYl o 1

. IR A g 3 x 4 TN B AR ™

e e S AB 3k B’A 2F1 ufoaia
e, ABwEA R

A) 4x4
B) 3x3
C) 3x4
D) 4x3
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2 00 200
4. The inverse of the matrix |0 3 0| s 4. g |0 3 0| yfaEm 8 |
0 0 4 0 0 4
0 0 % 0 0
A0 % 0 A0 % o}
00 0 0 ¥
1r2 00 1"2 0 0
—|0 3 0 —|(0 3 0
B) B
24_0 0 4 ) “looa
2 0 0 42 0 0
C)—| 0 -3 0 C)—| 0 -3 0
24
00 % 0 0 -4
% 0 o % 0 0
D)[O % O D)0 % 0
0 0 % 0 0 %
. Ifaga,,....,a,,...are in G.P. then 5. R ay, a,...., 8y, ... VAT FHAR,
loga, loga,,, loga,,, loga,  loga,,; loga,,,|
loga,.; loga,,, loga,.:|is @t [loga,.; loga,.,, loga,, 5 |
loga,,s loga,., loga,,, loga,,s loga,,; loga,.s i
A) 0 2l |
A) 0O
B) 1 Bi 1 i
C) —1 )t
D) None of these D) ¥ & %15 i
. The characteristic equation of a matrix A . 3TE A o1 fafire gt |
is ° - 5)% - 31 +21= 0 then |adj A| = A -5602-31+20=0 %, ii
A) 4 B) 25 Lf;diAl = |
4 B) 25
C)9 D |
: %% C)9 D) 30
LPage No.4 | 3EE a
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The area of region bounded by the lines
y=mx, X =1 and x =2 and the x-axis is
7.5 5q. units, thenm is

A) 2
B) 3
C) 4
D) 5

. The order and degree of

[HaTF 3]

A) 2,2

B) 2,4

C)1,2

D) 1,4

Let A; B, C, D be the points with
position vectors 3i —2j —k,

27 +3j —4k, —i+2]+2k and

4] + 5] + Ak respectively. If the points

A, B, C, D lie on a plane, then the
value of A is

*‘EX

7. W@y =mx, x = 13t x = 23 -7 @

yhafa &3 51 3% 7.5 71 76 €,
dWm 2

A) 2
B) 3
C) 4
D) 5

A) 2,2
B) 2, 4
C) 1,2

D) 1,4

. TSR A, B, C, D figsii = R

fem s 37 - 2] -k, 21 + 3] - 4k,
—1+2]+2k oM 41+ 5]+ Ak B 13R
g A, B, C, Dudgat W &, dt A =T
- ®

A) 0 e
37
B B) %Z
_37
A C) _TT
D)1 D) 1
[ Page-No. 5 } 3EE
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10. Let 3, b, € be three vectors haviﬁg

‘magnitudes 1, 1 and 2 respectively.

If @x(&xE)+b=0, then the angle
between 3 and € is '

A) T
B) 5m¢
C) %

D) Both A) and B)

11. The distance of the point A(a, b, ¢) from

the x-axis is
A) a

B) Jb?+c?
C) Ja?+b?

D) a?+b?

12. faLlb and (@+b).L(a+mb),

thenmis
A) 1 B) [a/ B
2
~[a
C) -1 D) ﬁl'lz_

13. If the points (-1, 3, 2), (~4, 3, -2) and
(5, 1, m) lie on a straight line then / and

10. "R fiftre 3, b, & o afew ¢, R
e w1, 13281 9R
ax(axC)+b=0% dMaalkcH
off= =1 =y B
A) %

B) 5%
C) %
D) A) 3R B) g

11. x99 3 &g A, b, o) Figh 2
A) a -

B) yb%+c?
- ©) Jat+b?

D) a2+ b2

12. 3R a2 Lb 3K (2 +Db) L(a+mb)

Lam__ R ]

A) 1 B) |§|2/]E[2
it 2

c) -1 D) [BITz'

13. Mﬁ% (_'1s 3. 2)1 ("‘4: 3, '—2)@{
(5, 4, m) Ot W@ R R, dF [ 3 m

|
m are : %l {
A) 3,10 N 5D l
B) -3, -10 B) __3 10 -r
C) -3,10 &) Fo
D) 3,-10 D) 3 ’_m
-A | Page No. tﬂ 3EE |
5
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14. The equation of a circle passing 14. g (1, 1) T %2+ y2 +13x -3y =0
through the point (1, 1) and the point R 2x2 2 3
g : X“+2y“+4x-T7y-25=0
of intersection of the circles 3 R
x2+y2+13x - 3y=0 and Hir=da fig & Tor et 3 o Ffie
2xa+2yz+4x—7y—25=0 is e gl
A) 4x%+4y? +30x 13y -25=0 A) 4x2+4y?+30x-13y-25=0
B) 4x2+4y?+30x—13y+25=0 B) 4x®+4y?+30x-13y +26=0
C) 4x®-4y?-30x +13y~25=0 C) 4x®-4y*-30x+13y-25=0
D) 4x2—4y? + 30x-13y -25=0 D) 4x%-4y%+30x-13y-25=0
15. The digit in the unit place of 72" is 15, 7 S EH A HFNF B
A)A A) 1
B) 2 B) 2
C)3 C)3 -
D) 4 D) 4
16. If a=b (modm) andxisan integer, then 16. Ifda =b (mod m) 3 x @& il 2,
- which of the following is incorrect ? Frfeitea & =t a1 7w 2 2
A) (a+x)=(b+x)(modm) A) (a+x)=(b+x)(modm)
B) (a—x)=(b-x)(mod m) B) (a-x)=(b-x)(mod m)
C) ax =bx (modm) C) ax =bx (mod m)
D) (a+x)=(b+x)(mod m) D) (a+x)=(b+x)(mod m)
17. ifaand b are positive integers such that 17. 3R a 3R b g=Tores Quiter & 3¢t e
(a® -~ b?) is a prime number, then (a2 - b?) T HEA B, A
A) a?-b?=(a+b) A) a?-b2=(a+b)
B) a®-b*=a-b B) a2-b%=a-b
C) a®+b®=a-b C) a®+b%=a-b
D) a®+b®=a+b D) a?+b2=a+b
\ | Page No.7 | 3EE
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18. Which of the following is false ?
A) (N, +) is a semi-group
B) (Z,+)is agroup
C) (N,+) is agroup

D) Set of all cube roots of unity is an
abelian finite group under
multiplication

1 2 4 5 6
51}533

3
19. it f=
{3 2 4

then f'is

6

™~
-y
N

3D W
~ B~

A}2

\
L
n
w
N
()]
(=)
-

B)

[y}
-
w
b
(o)}

©la2s136

P 63152 4

20. In a group G, the equations ax = b and
ya=b have

A) No solutions in G
B) Infinite solutions in G
C) Unigue solution in G

D) Depends onaand b

18.

19.

20.

e i s arammt ?
A) (N, +) T e g §

B) (Z, +) W WE

C) (N-) o e

D) T9F % dEd Thea & gl o gl 6
Ty Sfafer Hifia wg ® l

324516
@ i gl

1 456
A |2 7 5 1

3Wf=[1 2 345 s]esa

2 3
4 6

o
o =
NN
-
W H
N3
o o
S

0 |,

na
(&)}
ik
W
\__O'J

L N
-
o A
[\V Iy
NN

1
D}s

TR G ¥ gl ax = b 3 ya = b
2

A) G 7 =3 gEyE T

B) G ® 3 Ty

C) G # & A wAuH

D) a 3R b o fft e @

3EE
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22, AW f(X) = u.mm.mm_,,&“ R x20 7
0 ; aRx=0
2, If f(x)={xe mﬁnﬁx@oﬂmmz
A) fix) Fgem & s @) e 3 T R
whicBpff{ip Farwiglas correct ?

A) T(gys6gritnsncs ShO(S) doefast # 3

exist
B) vammﬁwmu%w_ﬁm:w

C) f(x) is continuous and f(0) also

23 2%FiE y =sin™’ MA,.: +X+ 41— L 2,

D) None of these 2

3. _:‘umm:“l_ + X + 1 xu?m:

O\
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24, If xMy"=(x+y)™* " then y =

-y

A) —

=)

< | x

c) —

D)

25. lfy=x*" ,theny’'=
Syt
X(1—ylogx)

_y
B) 1-ylogx

A)

yz

©) XA=ylogx)
2

£) 1-ylogx

26. If cos"(%]: Iog(% )x , then
X%Yo + Xy, =
A) n?
B) -n%y
C) Yg
D)y

24. I xmyn=(x+y)m+n %,?h- Y. =

A}-_iz

- =

25, M y=x }dy =

o oo Yl
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27.

28.

The angle between the curves
x2+y? =25 and
x2+y2—2x+3y—43= 0 at(-3,4)is

A) tan~'(1)

B) tan”'( Yg)
) %
o) tan”(%)

A man ¢’ tall moves away from a source
of light 20’ above the ground level, his
rate of walking being 4 m.p.h. At what

27.

28.

(-3, 4) WaH x2 +y2 =25 3N
X2 +y2 —2x + 3y —43=0 H =
HioT 2l

A) tan”'(1)

B) tan”( Jg)
C) %

D) tan(34)

6 F2 S T et A WA 20 |
ST ¥ Y F @ QI 2 | Iqh
e & 7 4 et wf oo ® | el v

CollegeDekho
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rate is the tip of his shadow moving ? HAIFE g RAITER?
12 i
A = —
) 7 A =
3
7 ) 3
40
C) - i
na C) 7
D) None of these
D) & @ FIE T
. The maximum area of a rectangle that ‘
be inscribed in a circle of radius +29. 2 vwrd e & g9 # Afnq amaa w1
S sk aREm eI _ =l
2 units is
8 & i
A) 8 sq. units A) TR
B) 4 sq. units B) 4 = wgdl
C) 8r sq. units C) 8rn 3 gwTsAl
D) 4= sq. units D) 4x & semsar
[pPage bio: 11 | 3EE
i N
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30. If the function f(x) defined by

30. 3R e f(x) i

=

—E.E x99 x2 100 9
f(}:)—_lm +E+.".+—2—+X+1, f(x}:%n.ﬁ_.;_%.}.
then (0) = it féman s, &t £(0)
A) 100f(0) A) 100f'(0)
B) 1 B) 1
C) 100 C) 100
D) None of these D) 383 & #1$ 7
31. The value of the integral 31. e [e*{f(x)+ (x) Jdx =1 gza
Jer{tx) + F(x) Jox is 11
A) ef(x)+c

A) e (x)+c

B) e*(x)+c

e* C © +C
C) g+ YT ¢
e!
e* D) z—+¢C
™ C0$2
" cos? 82. wEe | 1 X
32. The value of the integral J' Tt dx, w*a
_ - 1+a |
a>0is K
A) 1 A) 1
B) 0 B) O
n n
C) 5 C) 3
D) n

D) n

B) e*f(x)+ ¢

X

Eage No. 1a
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33. The value of the integral

35.

' B) e*log

e*(x® +1)
s R -
-[ {x+1)°

(%=

A) e*log| =— |+¢
) ogl\.x+1)

(x+1)

\x_1)

C) e"f[_x-j]+ c

x—1

+C

. The area enclosed between the

parabolas y? =16x and x2 =16y is
64 .

A) 3 S4 units
256

B) 3 $q. units

16
C) 3 sq. units

D) None of these

The solution of y' =e*~¥ 4+ x%Y is

A) S(EY__EN.J_xS =C

B) e¥-e*~-x3=¢
C)e'-e*+x3=¢

D) 3(e¥-e*)+x®=¢

A) e* Iog(—l- +C

B) e* In:}g[—--1 +c

f
D) e* x_—1]+ c

34, EET y2 = 16x 3R x% =16y V 3WE

EEICE R E L S
A) %a—r‘fmﬁ'
B) %aﬁmﬁﬁ
C)lagariﬁrézﬁ'
D) ¥ & %) i

35 y=e*VixZe Y WEHEHR_____ B

A) 3(e' -e*)-x*=c
B) e¥-e*-x%=¢
C) e¥-e*+x3=¢

D) 3(e¥-e*)+x®=¢
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36.

37.

39.

[ &) | ey

The value of 4tan“[— J— % =

A) tan“[—LJ
139

C) tan'(239) D} tan™"(139)

If sin”| X |+ cosec[ 2 |= &
[5J 2 z,thenthe :
value of x
A) 3 B) 2
C)1 D) O

. The general solution of

V3¢cos x + sinx =/ , for any integer
“n"is

T,
B NM——+—
) 6 4

C) 2nm—-—+

?iA

X
4

D 2nr|:+£:f:E
) 6 4

The imaginary part of conjugate of

1+i) |
-

A) -1 :

‘B) -i

C) 1
D) i

37.

38.

. 39.

[ Page No: 14 )

B) 2
D) 0

V3cos x + sinx =2 , B quifes “n" &
o Jm=r e o

T. X ’
nm+=+ 2 I
A) MHe*g |

T, |
T |
B) Mm-5*32 ‘

C) 2nm—-—=

»lA
k|

D) 2nm+—+

@A
&

1+i

5 |
[1—_|) = T H HAhE R |
2| ;

A) -1
B) —i
C) 1
D) i

3EE
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CollegeDekho
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40. If o is an imaginary cube root of 1,
then the value of 1(2 - ) (2-w?)+

2B8-0)(3-0°) +..+(n-1)
(n-0)(n-a?) is

ﬁﬂzj_"li_n

A)

B)

C) Eﬂéﬂl+ﬂ

n?(n+1)2

D) 2

+n
41. The equation of the tangent and normal
tothe ellipse x® + 2y? + 2x — 4y —14=0
at(2,~-1)is
A) 3x-4y-10=0,4x+3y-5=0
B) 4x+3y-10=0,3x+4y~5=0
C) 3x~4y-5=0,4x+3y-10=0
D) 3x—-4y—-10=0,4x-3y—-5=0

42. Ifthe line 2x + /6 y = 2 touches the

hyperbola x? - 2y? = 4, then the point
of contact is

A) (4, 6)
C) (4,-/6)

B) {_4! _Jg)
D) (4,/6)

43. The angle between two diagonals of a
cube is

A) 00.8“(}%] B) cos”(%4)

C) 30° D) 45°

40. IR 1 T FIAHH T o 2, A
12-0)(2-0%)+ 2(3-w)(3-0?)
+ot (=1 (- ) (0 - o) F1 5

2l

ﬁﬂéﬂl_n | |
nz(n4+1)2_n | ”
n(n + 1)
-—-é—_+n \J
|

D) D-2—('1411'—1-}'?-+n ; ;1

A)
B)

C)

41, dbgT x%+ 2y%+ 2x -4y ~14=0 =
(2, —1) ® st T ik sifivera =t [
iR H |
A) 3x—4y—-10=0,4x+3y-5=0
B) 4x+3y-10=0,3x+4y-5=0
C) 3x—4y-5=0,4x+3y—-10=0
D) 3x-4y-10=0,4x-3y-5=0

42, IFRXE 2x + /By =2 HHfrweeH
X% - 2y? = 4 = @l ot R, A G

foig 21
A) (-4,6) B) (~4,-6)
C) (4,~+/6) D) (4,46)

43. T % 9t el & F s H

A) CUS"[/@J B) cos™'( %5)

C) 30° D) 45°

( Page No. 15 | 3EE |
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44. The equation of the plane which bisects
the line joining (3, 0, 5)and (1, 2,-1) at
right angles is
A) 2X+y+22=7
B) 2x+2y-62z=7 _

C) x-y+2z=7
D) x-y+3z=7

45. The equation of the line passing through
the point (5, 3, 2) and perpendicular to

the lines _J_<;2_=y_-—_§=z-4

e
N

46. The vertices of the hyperbola are at
(~5,-3) and (-5, -1) and the extremities
of the conjugate axis are at (-7,-2) and
(=3, -2), then the equation of the

. a1 (=5, -3) 3R (-5, -1) %

44. (3, 0, 5) 3 (1, 2, —1) = Ty &

ATt YaT SRR woE we
<1 Tt g

A) 2x+y+22=7

B) 2x+2y-6z=7
C)x-y+2z=7

D) x-y+3z=7

. 193 (5, 3, 2) & o T afk Y

3R vt a7 HBR (-7, -2) ik (=3, -2) -
@, A arftrcaer w5 ade 21

hyperbola s
A) i"—"ﬁz——ﬂﬂ A) (—3’-—'1—212--9-‘-1&:1 |
B) (3!-:-2)2_,(::4;;5)2=1 B) (y+12)2_(X~;5)2=, |
C) “15)2—““;2}21 c) (l';jf-—(i‘%—z’—zﬂ
o) &S _G=2F o) & _b-2F

A (Page No. 16 ] 3EE
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47. Two dices are thrown simultaneously. 47. B 9TET Y U |y et Srar ) Tl 3

The probability of obtaining a total score
ey g 5 WIS T 1 Wi :

N % n Y%
B) Yg B) Y
©) %o ©) Y2
D) Yae D) Y4

e L —

48. If A and B are events with 48 WAaﬂTBﬂZﬁTi%GﬂIP(AuB)—y
. Su 4°

P(AUB)=3/, , P(A)= d
/ %a“ F’{A’)=% afk P(.pﬂw-mEs}=){t 3
P(AnB)=% then P(B) is P(B) T

A B) %4 DRy A B) 24
Y o % 0¥ D)

49. The probability that among 7 persons, ‘
no 2 were bom on the same day of a 49. T A & it 2 S wane ¥ s A

week is YagafioRema )
A % B) 7% A) % B) 74
o ¥, - D) ¥, C) V4 D) %

50. For the e;vents A and B, P(A}=%. 50. A 3R B weiai & forg, P(A}:%, _
P(B)= J{, P(ANB) = Yoo then PB)= %, PANB)= 10 &, @ *I
P(A/B)= P(A/B)= '
NP B) Y5 A B) %

c) ¥ D 0 ¥ 0 % |
A- - (PAgENETT7 ' EE |

!
¢
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52.

53.

CHEMISTRY
Acid catalysed hydration of aikenes
except ethene leads to the formation of
A) Secondary or tertiary alcohol
B) Primary and secondary alcohol
C) Secondary aicohol
D) Tertiary alcohol
Among the following which is least
acidic ?
A) Phenol _
B) O-cresol
C) P-nitrophenol
D) P-chlorophenol
An ether is more volatile than an

alcohol having same molecular
formula because

A) Dipolar character of ether
B) Alcohols having resonance structure

- C) Intermolecular hydrogen bonding in

54.

ethers

D) Intermolecuiar hydrogen bonding in
alcohols

An organic compound A(C4HgCl) on
reaction with Na/diethyl ethef gives a
hydracarbon which on monochiorination
gives only one chloro derivative then,
Ais

A) isobuty! chloride

B) Secondary buty! chloride

C) Tertiary butyl chioride

D) n-butyl chloride

51.

92.

53.

54,

| Page No. 18 i

amﬁﬁmw%mm
ERCiTC &1 Al & S 2

A) fidfas @1 g e

B) i 71 fidfiass teepere
C) e Vesidm
D) e Yo

frfofea & 3 ged wn s g a2 7
A) i

B) 3ft-hara

C) f-Tiga v

D) R-s=irrbria

T & R g Yt @
s SRR & i

A) $R =1 iy e

B) YewTeiet ) o1 weeE

C) %R & i Smiferh wrsiem o

D) Yeiteter i siet o i sy

T b A AC,HGCl) wifem
TRISUTSE SUT o T SifufRaT O
EIESIHTE 30T & St W I S
RN T AN N 3
A) TR ST TR

B) Tdtus sqerer weise

C) Tt sgeriet winge

D) W-s3erid Twinmge

3EE

ETE—
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55. An oxygen containing organic
compound upon oxidation forms a
carboxylic acid as the only organic
product with its molecular mass higher
by 14 units. The organic compound is

A) A ketone

B) An aldehyde

C) A primary alcohol
D) A secondary alcohol

56. Anisole can be prepared by the action
of methyl iodide on sodium phenate.
The reaction is called

A) Wurtz reaction

B) Williamson’s reaction
C) Fittig's reaction

D) Etard's reaction

57. Consider the following reaction :

. CHs0H + H,80, — Product. Among

the following, which one cannot be
formed as a product under any
conditions ?

A) Ethylene

B) Ethyl hydrogen sulphate
C) Acetylene

D) Diethyl ether

58. From amongst the following alcohols
the one that would react fastest with
conc. HCI and anhydrous ZnCl,, is

A) 2-methyi-propan-2-ol

55. STliehTeT Tt ST Tl o e
3T TR Soqq & 14 TR ST
T HTH FHlel ek IeTE o &9 § et
U T R | @ b A 2
A) TF FiE
B) T Ufesess
C) & mufie Yrree
D) = Tl Yt

56. @Ifsam fFi W Autser ardterse
Jrfufsran A Afreer fam Frnr s a2 |
watfEn R wmwmd
A) s Afifen
B) faferamer sthifman
C) Tieferg stffzmn
D) wedq 31fiferar

57. Freffen sififsastt =) e # haw -
C:HsOH + H,50, — 3w | il
7 8 T et off fRRy & v 3ee ¥ =y
T e s ST T 7
A) vl
B) $uT5a BRgRH Tethe
C) ufafesf
D) Srdurse der .

58. Pt teieer 3 @ 9 e ¥ A i
HCI 3t fisfer ZnCl, & sl
HEE

A) 2-TBTEA-H1UT-2-31F

B) 2-Butanol B) 2-=ggAra
C) 1-Butanol C) 1=t
D) 2-methy! propanol D) 2-BuRe ST
A Eage No 19] | 3EE
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69. Hydrolysis of aromatic amide gives 59. Wiifew targe & s i - |

A) Acids | ¥
B) Amines A) ey,
C) Alcohols B) Twgw |
D) None of the above C) TwhgE -

60. Methyl phenyl ether can be obtained by i i ‘?
reacting 60. &Y arfirfsRan & Denge frarse
A) Phenolate ions and methyl iodide PR a1 ﬂ
B) Bromobenzene with methoxide ions A) Ticie g 3t ferge ammierss
C) Methanol and phenol B) Fefaeee Sl & @ S
D) Bromobenzene and methyl iodide C) Feiet iR Brfer

| D) sie=fiT iR femger amiesS

61. Which of the following is correct : |
statement ? 61. FH AT W GH G o 8 7 |
A) Acetophenone is an ether A) AT T $r @
B) Diastase is an enzyme B) SRS T oA &
C) Cycloheptane is aromatic C) RFiIRe T WAl i 3

compound D) IR & wft

D) All of the above 62 Prafsfaa i a e o e 2 7

62. Which of the following is incorrect ? A) FeCly 1w s 7 v ey & |
A) FeCly is used to detect phenols foe foram s § | |

B) Fehling’s solution is used to detect B). Fefem a1l 1 I " F |
glucose | T o fore fora s @ |

C) Tollen's reagent used to detect C) diw aifrds &1 I smdiqwa |
unsaturation Tar e & fore e s 24 |

D) NaHSO, used to detect carbonyl D) NaHSO, 1 swiim wmifw Afw s |
compound T T & o R ST |

A @ge No. 20 J 3EE
o
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'63. Which one of the following is not a 63. ﬁmﬁy%aﬁﬁaﬁqmﬁaqmagam e ?
condensation polymer ? A) 3H
;; zacrorn B) faiti
eoprene
C) Me:mine o W
D) frerets
D) Glyptal
64. Which of the following statements is §4. Fiealefion A & ooy w4 ¢
false ? A) STpfceh R o STt i 3T
A) "Repeat unit of natural rubber is A E
isoprene B) wr i Sggera SNl whi senrzal
B) Both starch and cellulose are made e € |
up of glucose units C) %9 m =i AgAE A & |
C) Artificial silk is derived from cellulose D) 9&eiA-6, 6 TF SRR 2 |
D) Nylon-6, 6 is an elastomer
65. SFemic s d sffFr g e MR ?
65. Bakelite is formed by the regction of A) St ok FriifesEEe ;
:} :heno:.dgu::l ;ormaldeh::de B) wHifeteRe sk SRR
ormaldehyde and aniline
C; Adipic acidyand ethylene glycol g) fﬁﬁ Eg ﬁ'ﬁlﬁ?ﬁ? W
D) Phthalic acid and ethylene glycol ) et .
66. Which of the following is fully fluorinated 66. FiEwiRm 3 Stz T 9
polymer ? ; . ﬁmwagam% ?
A) Neoprene A) Bt
B) Tefion B) Zuetla
C) Thiokol C) firiete
D) PVC D) dt.dt .
67. Which of the foliowing is a polyamide ? |  67. Fimfifed § & % o us w2 7
A) Teflon A) T
B) Nylon-6, 6 B) 9=i1H-6, 6
C) Terylene C) 2t
D) Bakelite D) d%eTse
A [ Page No. 21 ] 3EE
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68. Plexiglass is a commercial name of
A) Glyptal '
B) Polymethyl methacrylate
C) Polystyrene
D) Polyacrylonitrile

69. Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the

polymer in which intermolecular forces
of attraction are weakest is

A) Nylon

'B) PVC

C) Natural rubber
D) Cellulose

70. The monomer used to produce orlon is
A) CH, = CHF
B) CH, = CCl,
C) CH, = CHCI
D) CH, = CHCN

71. Glass is
A) Polymeric mixture
B) Gel
C) Super cooled liquid
D) Microcrystalline solid
72. Among the following substituted

silanes the one which will give rise to
cross linked silicone polymer on

68. WATFRTAN F Uk AEaRe W
=X
A) femeta
B) witeiirenge fremsraee
C) difefeefe
D) wifeifaeserss

69. Aqw, vifvasia wgs (f.4.4.),
A IR W TR w98 R
IR IUIfeh U e oifen it
HBiT8e

A) TR
B) .z
- C) wrpfees =3
D) ¥
70. AT #1 fwfo 5@ F faw
AR 1 ST FFar s
A) CH, = CHF
B) CH, = CCl,
C) CH, = CHCI
D) CH, = CHCN

71. @ Bl
A) sgerhi Ty
B) S &
C) afa Se1 5=
D) migshifhfeega 3

72. Fraffea sReenf R iy
TRSIfTRm Wi - frg o il

hydrolysis is et =t fomfor st 2 |
A} R5SiCl A) R,SICl
B) R,SICl, B) R,SICl,
C) R,Si C) R,Si
D) RSiCl, _ D) RSiCl,
A ' [Page No..22 ] 3EE
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73.

74,

The polydispersity index of the polymer
is always

A) 1
B) <1
C)2
D)1ors1

Which one of the following statement is
incorrect about enzyme catalysis ?

A) Enzymes are mostly proteinous in
nature

B) Enzymes are least reactive at
optimum temperature

C) Enzymes are denaturated by
ultraviolet rays and at high
temperature

.D) Enzyme action is specific

75.

Which one of the following is an
example for homogenous catalysis ?

A) Manufacture of sulphuric acid by
Contact process

'B) Manufacture of ammonia by Haber's

76.

CR s

process

C) Hydrolysis of sucrose in presence of
dilute hydrochloric acid

D) Hydrogenation of oil

Among the eléctrolytes Na,SO,,

CaCl, Al,(SO,); and NH,CI, the
most effective coagulating agent for
Sb,S, sol is

A) Na,SO,
B) CaCl,
C) Aly(SO,),

73.

74,

75.

76.

g I Uiee i SR Ei
g |

A) 1

B) <1

C) 2

D) 141> 1

Fefafes o= § & 919 @ vaes 38

FIF Tera B ?

A) TShgn SR g SFh
B |

B) F5TH AN W USTEH 1 TR
T E |

C) UaTsH cgmaiaaie foit ofR sea amaum
R fpa 219 21

D) Gemen fFm e gl &)

P # & = a1 et 38Rw Fr e R ?
A) Hh NSk g Tewie TR @ fiwin
B) TR & Witk g s = R
C) et erseiaeiner ts <t sl
B E-ERE R iUl

D) o<1 Y TREISTA

WWN&ZSD“ CE'CIE! A|2(804)3
A NH,CI § Sb,S, afa & fu gad
mﬁﬁﬁ?uﬁz_____ R
A) Na,SO,

B) CaCl,

C) Aly(SO,);

D) NH,CI

D) NH,CI

[ Page'NG: 23 J
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77. Which of the following statements is

78.

79.

incorrect regarding physiosorption ?

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsorption { AHagsorption)
is low and positive

D) It occurs because of van der Walls
forces

Gold numbers of protective colloids
A, B, C and D are 0.50, 0.01,0.10 and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B<D
B) B<D<A<C
C) D<A<C<B
D) C<B<D<A

When a sulphur sol is evaporated,
sulphur is obtained. On mixing with
water, sulphur sol is not formed. The
sol is

A) Reversible
B) Hydrophobic

C) Hydrophilic

D) Lyophilic

7T

78.

79.

R e o & e o

FeorATEGE T

A) T=a 7o i sty T W
agwmﬁmqmﬁq&mﬁmé\m% 1

B) i arar & s e 1
HEE © |

C) ersirsm = R (A Hagsorption) ¥
afit g © |

D)uaawgmmaﬁaﬁ%ﬁm%'@m%n

TS HIeTed A, B, C et DA &R
1 g Fw: 0.50, 0.01, 0.10 ¥
0.005 & | 3R geen T & T FH
%

A) A<C<B<D

B) B<D<A<C
C) D<A<C<B

D) C<B<D<A

ﬁa'ﬁé No. zﬂ
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aaqmwafaaﬁﬁﬁamm%,?ﬁ
o ST o & | aeh 6wy e W
quﬁm%iﬁa____%l
A) s

B) BEGIBI

C) TEgIHieT

D) foeiifsii®
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80.

81.

82.

83.

84.

The hydrocarbon which can react with
sodium in liquid ammonia is

A). Styrene

B) Acetylene
C) Propylene
D) Pentane

The compound formed as a result of
oxidation of ethyl benzene by KMnO, is

A) Acetophenone
B) Benzophenone
C) Benzoic acid

D) Benzaldehyde

Alkyl halides react with dialkyl copper
reagents to give

A) Alkanes
B) Alkenes
C) Alkynes
D) Alkyl copper halides

80. W EESrHES ¥@ s § wifeaw &
a1y TffERaT o T & 98 2

A) €ifa
B) tfafesta
C) WrgeiA
D) U=A

81. KMnO, % 210 $HIES SiSfi o SHaeehivT
% qiom e Afires s 2 |
A) TERIGEAA
B) SSIGHA
C) sisitgs 37
D) senfeeess

82. Ufre deTsey Sratfoene HIT AR
¥ gy AtfE @ T e |
A) U=
B) Ui
C) UehE,
D) Yt FIR TaTE8H,

83, WARes iR & Fo Fer-gEiE

Some meta-directing substituents in feeeen! ot e T | 90 | i
aromatic substitution are given. Which T waTeT s § 7
one is most deactivating ? A) ~SO4H
2)-CN C) —~COOH
C) ~COOH D) -NO,

| g4. v 2-5qg7é7 i wffisn Pd-BaSO, %
When 2-butyne is treated with | B &, & IJEITE F TS
Pd-BaSO,; the product formed will be AT | R

~ A) 1-butene A) 1R
B) trans-2-butene B) Zi@-2-¢H
C) cis-2-butene C) Rm-2-sgd=
D) 2-hydroxy butane D) 2-ErEgrt =g
[ Page No.25 ]
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85.

86.

87.

88.

Which of the following has highest
knocking effect in IC engine ?

A) Branched chain olefins

B) Olefins

C) Aroméﬁc hydrocarbons

D) Straight chain oléf‘ms

Which of the following acids does not
exhibit optical isomerism ?

A) Tartaric acid |

B) Lactic acid

C) Maleic acid

D) o-Amino acids

Which of the following reactions will not

result in the formation of carbon-carbon
bond ?

A) Reimer-Tiemann reaction
B) Friedel Crafts acylation
C) Wurtz reaction

D) Cannizzaro reaction

The standard emf of galvanic cell
involving 3 moles of electrons in its
redox reaction is 0.59 V. The
equilibrium constant for the reaction of
the cell is

A) 1025
B) 1020

'C) 1015

D) 10%

85.

86.

87.

88.

i & @ e = el 39 3w S
iR 9w BT 3 ?

A) TEE ST A,

B) Il

C) Wi BrEgrRr

D) 6t HEET AR,

Frefafen § & 9 a1 e sifewa
amgenifen wefia 78l it ?

A) TREfER

B) gy

C) weAs® 3T

D) o -UfEFT 37

e ¥ & F o weA-FE g
e 7 B 7

A) T~ arfufsn

B) ¥es sy YREiTH

C) aew Al

D) F=iwm sifufesan

Eiag st § 3 Hiew JoEgagEd
Heafrer a1 T emf 0.50 V2 1 FeT
arfifrn & foe g fems g

A) 102

B) 1020
C) 1018
D) 1030

[ Page No. 26 ]
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89. The potential of a hydrogen electrode 89. pH = 10 T BEEI gaagre 1 fava
atpH=10is ARz 1
A) 0.59 V A) 059V
B) 0.00V B) 0.00V
C) -0.59V pne C) -0.59 V
D).-0.059.¥, D) -0.059 V

90. Which of the following electrolytic

solutions has the least specific 90. frmififan wegiestess forerer & dwd
conductance ? w1 fafire emeshe ot o1 @ 7
A) 0:002 N A) 0.002 N
B) 8.1 N B) 0.1N
C) 0:2N C) 02N
Dj 2N D) 2N
91. Dissolving 120gofureain 1000gofwater | 91, 1000 T Tr % 120 7T JRAT &l ATH
gave a solution of density 1.15g/mL. The R femm 1 ¥ 1.15 g/mb ST S
molarity of the solution is 2| frerm < A 2
A) 1.78M ' : A) 1.78 M
BpaM B) 2M
OL200M C) 2.05M
s D) 2.22M
92. 'A 5.2 molal aqueous solution of o FopsgAaieial
il SO SRR
alcohol in the solution ? ; Yeehieie 1 Al Hae F e 7
A) 0.05 A) 0.05
B) 0.10 B) 0.10
C) 0.18 C) 0.18
D):0.086 D) 0.086
4  PageNo:27 | 3EE
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93.

94.

95t

96.

58.5 gm of NaCl and 180 gm of glucose
were separately dissolved in 1000 ml
of water. ldentify the correct statement
regarding the elevation of boiling point
(b.p.) of the resulting solutions.

A) NaCl sciution will show higher
elevatio:; of b

B) Glucose solution will show higher
elevation of b.p.

C) Both the solutions will show equal
elevation of b.p.

D) The b.p. elevation will be shown
by neither of the solutions

Reaction of acetone witﬁ HCN gives
A) Substitution.compound
B) Addition compound

C) Elimination product
D) None of the above

Identify the correct statement.

A) Reaction mechanisms are studied
using isotopic labelling

B) Isolation of reactive intermediates
is a method to establish reaction
mechanism .

C) Both A) and B) are correct

D) Neither A) nor B) is correct
Identify the monomers from the
following.

A) Acetic acid and benzoic acid
B) Adipic acid and ethylene glycol
C) Ethylene and ethanol :

D) Phthalic acid and acetic acid

93.

94.

95.

96.

58.5 gm NaCl 3l 180 gm TeE i

1000 mi ot H guh &9 § wie & S

2 | ufonfia fems § F9uAE & I

F gl 1 9d) FoF 1 Jea i |

A) NaC! ferad Faeich %1 3= =19
agTian &

B) Qﬁﬁﬁamﬁmmﬁﬂm
CEUTIRH

C) 2 o Faeis & FHH 55T
CUT

D) St farerl g0 I S 3= el
T SAar

HCN & @re YR =t sTfifsran &
_ yigare)

A) S AFew

B) I AT

C) faeiiua 38

D) T4 & w18 ofi T8

et Fu F g9H i |

A) &aﬁi\ﬁa?éa%ﬂamsqﬁnaﬁﬁaﬁﬁm
&3 T 7EE foRT T 8 )

B) arfif3arens Seutfete T guah §
APrfraT a3 ToTfid 13 <l U SR

C) A) 3t B) 21 €& & |

D) Fdr A) 3l & B) FEl B!

Srfefag # gAY &) 9g=H HL |
A) tRfRE Ure ofv e U

B) tfedis s i gumsel R
C) 3aseiia 3R AT

D) wiftr MRre afR Uffew Ui

[Page No. 28 ]
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97. Hydrolysis of cyanohydrin derivative | 97. erieRRE sm=¥ ssafiEd i
produces e T T BT & |
A) Carboxylic acids - A) TR Y |
B) Alcohols B) ¥ R
C) Aldehydes - C) ¥feers |
D) Ketones : D) #erd
98. Which of the following do not contain 98. T4 ¥ fop & FEy-3iifRge g9a 9
carbon — oxygen double bonds ? _ TER?
A) Ketone sl | A S
B) Esters B) TwH
C) Acids : - C) My
D) Ethers : D) <o
99. Chloroethane reacts with X to give 99. FNEd 3 X Y ffFm @ T
diethyl ether. The compound X is o ST B 2 | AR X 2
ARy A) NaOH-
B) NaOEt !
B) NaOEt ,|
C) H,S0, !
C) H,S0, j
D) NayS,0,4 |
' : D) Na,S,0, |
100. How do you distiriguish chiorobenzene |
from benzyl chloride ? 100. 319 dfye FrUse @ TN B F - l
A) AgNO, test T & 7 | |
B) Schiff reagent test A) AgNOg e
C) By analysis of elemental B) R sifivrnies e {
composition C) Tes=ia e =1 faydiyor % 1
D) By adding sodium bicarbonate D) Hifam smere Sea
A . [ PagENo:29 | " 2 3EE
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101.

108,

103.

PHYSICS

The dimensional formula‘for permittivity
of free space (g,) lin the equation

F 1 |q§ where, symbols have
4KEj r

their usual meaning is

A) M'L™ A2 T

B) M'LS T A%

C) [M—1 L—E- A—E T-4]

A body moves along a straight line
with acceleration 3'ms=2 for 2 seconds
and then with acceleration 4 ms=2 for
3 seconds. What is his average
acceleration ?

A) 3.4ms2
B) 3.5ms @
C) 36 ms™2
D) 3.7ms™

Two bodies are projected at angles

6 wmd (90°-0) to the horizontal with
the same speed. The ratie of their times
of flight is

A) sinB:1
B) cos9:1
C) sinf:cos6

D) cos9:sind

witfae fogm

I
101. TR F 1|Q‘QEﬁ@1éﬁem?m
Ay r2

WA (go) HQ T
® | 8T wefter =1 w37 R

A) MLEA2TH
B) [M—I L--E T4 AZ]
C) [M 1 I 3 A—E T—4]

D) M'L2 T2 A
102. U 3% 2 Ths & T 3 ms™ & &
1y 3R {6t 3 Tohe & felT 4 ms2 =@
& TT T Ya1 H goral 8, ot Sae 3f9q
T TR ?

A) 3.4 ms2
B) 3.5ms™?
C) 3.6 ms™=2
D) 3.7ms ™2

103. 3 Fegail = guE I | &fes 1 3T g

3R (90° —0) wHivhi ¥ weifie hm st
R F @ FA & e w0 gAg &
A R

A) sing:1
B) cos®:1
C) sinB:cosB

D} aneL: sino

(Fesebiazan))

3EE
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104.

105.

The co-efficient of friction between two
surfaces is |1 =0.8. The tension in the
string as shown in the figure is

1kg

Los
A)ON B) 6N
C) 4N = D) 8N

A body of density p and volume V is
lifted through height h in a liquid of
density o (<p). The increase in
potential energy of the body is

A) V(p-o)gh

B) Vpgh

106.

107.

C) Vogh
D) Zero

A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.
How much time does it take to cross the
earth ?

A) 169.2 minutes
B) 84.6 minutes
C) 21.2 minutes
D) 42.3 minutes

A curved road of diameter 1.8 km'is

104. < gag! & 1" ¥ odor FWE p=0.8 |

o= 3 Tty g fedn o o B ;
thg

30° |
A)ON B) 6N !
C) 4N D) 8N :'
'

105. ¥9 o (< p) FFA R FTE h¥ o3 p
afit ot V & TE TG W W ISET
wren B | g <1 Ffow ot & i

g1

A) V(p-o)gh

B) Vpgh

C) Vogh

D) A

106. UF U1 &I ge=ht & =49 & @9 § @
™1 ¥ | O gegaE m sad i e mn
2| gt ) IR wW § 3@ e ' |

TRt '-
A) 169.2 fire
B) 84.6 e
C) 21.2 fime
D) 42.3 e

107. 1.8 B. 1), =8 1 IF@R 9% S

banked so that no friction is required T 8, R 30 Hiet i hs & i W
at a speed of 30 m/s. What is the U <Y STEEhAT Te1 o | A1 St BIo
banking angle ? e
A) 6° B) 16° A) 6° B) 16°
C) 26° : D) 0.6° C) 26° D) 0.6°

[ Page No. 31 J ~ 3EE
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108. The moment of inertia &f & sphere of
yese M B radius 7 about an axis

passing through its centre I8 g MR?,

The radius of gyrétion & the sphere
about a parallel axis to the above and
tangent % ihe sphere =

A)%H

o[

109. The length of a metal wire is 1, when
the tensionin itis T, and is I, when
the tensioniis T, . The nalural length of
wire [§

L+l
2

B) Jhl

Lla=hTy
CY =m=

A)

LT +LT,
L+T,

1¥ Ineachheartbeat, a hear' numps 80 m! of
il & @ average pressure Sf 100 mm
of Hge Assuming 6J heart beats per
second, the power otitput of the heart is
(prg =13.6x10° kgm ®)(g =9.8 ms2)

108. s=FAH M 3R Brsan R & g% %1 =geh g
¥ GR BHETe 181 o FScd Al AT

5 MR® %138 % 0 ok weRn &

FHATAL 318 o oI & g <t wiesmey e
21

A) IR B) R

(G (fh

109. g TR hl =TS [, § &1 35 9 T,
2 3R [, 9@ TE T, B | AR H Apkien
[SCIE 21

A) —11 42-13

_ A

LT -bLTy
To=T,

hTa| 42T
B) Sty

14, & usHA 4 ged 100 A ft. Hg s sleagam
7 80 f4.57. T ! v e & 4 e A 60
IR §a9 USHAT 8, I §ed I Icdied 9
_ 31 (p,=13.6x10% kgm™?)

(g=9.8ms2)
A) 1AW B) 1.06W A) 1.0W B) 1.06'W
C) 1.12W D) 216'W C) 112%™ D) B18AW
A L 3EE
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111,

12,

113.

114.

115;

Two liquids A and B are at 32°C and
24°C. When mixed in equal masses
the temperature of r;nixture is found to
be 28°C. Their specific heats are in
the ratio

A) 3:2
C) 1:::1

B)2:3
D) 4:3
If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) Become half

B) Become two times -
C) Become four times
B) Remain constant

The rms speed of oxygen at room
temperature is about 500 m/s. The rms
speed of hydrogen at the'same
temperature is about

A) 125 m/s
C) 8000 m/s

B) 2000 mv/s
D) 31 m/s

The distance between two points
differing in phase by 60° on a wave
having a wave velocity 360 m/s and
frequency 500 Hz is
A) 0.72m

C) 0.12m

B) 0.18m
D) 0.36m

A particle moves according to the law

it
X=rcos CE The distance covered by

itin the time interval between t = 0 and

111.

112.

113.

114.

3 3a A 3t B 32°C 3 24°C WA & |
& ST S g9 gea | e s R,
e fhrror 1 T9aT 28°C 8 ST E | I
fafiree i =1 1o _ 21

A) 3:2 B) 2:3
ChH': D) 4:3

IR T Ay 79 F1 g9 IR aEe
AT B ST 8 7R TG ST 6 S,
A fa % srupedi < e

A) Ieft B S @

B) & I € A1t ?

C) =R T 8 <l

D) &R Tt 2

TR & TN R FiesH T ms nﬁr
ST 500 mys ® | IE 19T W ERSeH

F rms Tfd T 21

A) 125 m/s B) 2000 m/s
" C) 8000 m/s D) 31 m/s

360 m/s TG 9 3K 500 Hz g &%

0 s & 60° gRI e a1 fegadt %

e gl 21

A) 0.72m B) 0.18m

C) 0.12m D) 0.36m

115.

X =I'GDS-1§- T 3 7w o wor S
#1t=0 3 t = 35 % = w sfava §

t=3sis SR W R

A) 1 B) 2r A) r B) 2r

C) 3r D) 4r C) 3r D) 4r
| Page No. 33 |
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114,

117.

118.

A charged particle moves with a velocity
V.in.a circular path of radius R around a
long uniformly charged conductor then

A) V<R
1
Vo =
B) R

]
C) V“‘"ﬁ

D) V is independent of R
The capacitance of a patallel plate

4
capacitor IN— 3 times. :ts original

value if a dielectii; slab of thickness

=-g- is inserted imappa the plates’

(where d is the distance of separation
betweenthe plates). What is the dielectric
constant of the slab ?

A) K=2

B) K=)
C) K=1

D) K=42

A letter ‘A’ is constructed of a uniform

wire with resistance 1.8Qcm'. The,

sides of the lettel are 20 cm and the
cross-piece in the middie is 10 @ long.
The apex angle B 60°. Tha resistance
between the ends of the leys is

A) 50.0 Q
B) 26.7 Q
C) 272 Q
D) 34 Q

116.

117.

118.

If¥ wes Wifta v1 B=ar B & e o
Q@ EAT V @ R T g9 WG Heael
¥ =R 3R I 8, @

A) V=R

.1
oo e
B) R

Vi L

VR
D) R¥V @=d7 &

C)

qﬁt:%maaaﬂﬁ@ﬁﬁﬁqﬁffaﬁ

& et ¥ s P e e 2, A
AU Wi G A Wi ST T

bk %ﬁmﬁrawﬁ%mafrﬁmaaﬂm
oo @ 7 (STEt e o e o gUh
g d?)
A) K=2

B) K=}é

C) K=1
D) K=4+2

gfeRM 1.0.Q cm ™! % 1Y TH FHH R
{ T} A" ) EET R TS 7 9 A G
20 cm 3T 7ew # FwE" @€ 10 cm
< 2| 9 o 60° R | TR % 3 &

ﬁage Nt;. 34 J

== &1 9y Bl

A) 8500

B) 26.7@

C) 2720

D) 34 &
3EE
RN
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118.

120.

121.

A wire loop PQRSP formed by joining
two semicircular wires of radii R, and R,
carries a current I as shown in figure
below. The magnitude of magnetic
induction at centre C is

. pis IS
C) Hol —‘""“]

/
1
D) - Hol '—J

The magnetic flux through a coil varies

with time as Q = 5t2 + 6t + 9. The ratio
of emf att=3s to t = 0s will be

A) 1:9 B)1:6 .
C)6:1 D) 9:1
An alternating voltage V =\, sinot is

connected to a capacitor of capacity
C, through an A.C. ammeter of zero

119.

i R, afR R, & & arvfageen ari &
# foa ¥ fow s1ger o ufesr PQRSP
=1 fmior BF mar 8, S oo 1 @ 969
FT & 1 g C W gaeh Wehed 1 frear
%l

mo )1 1
&) (4JI_H2 R,
B
By | Bopjelz ot
B a-a
[ W,
C) l-’-ol_l:{—2
]
D) Kol -F-I_J
= L\ 1
e % ATy ¥ YaehY Fea

120.

121.

Q=512 + 6t +9 ¥ 3 T F W
wﬁﬂﬁﬁﬁm%lt‘=35ﬁt=05ﬁ emf T

g Eull
A)1:9 B) 1:6
C)6:1 D)9:1

¥ whodte % Y. ¥R F g1 C, e
FauiE =t V =V, sin ot Jem@d diees

resistance. The reading of ammeter is ST T § | W A 1

V, V, -V, M

20 0 el s P
Ml B) wC2 A T2 B) WCV2

VoC Vo C

et e 1t
C) "2 D) V,aC C) D) VowC

( Paye No:s5 | 3EE
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122. Whatis the required condition, if the light
incident on one face of a prism, does
not emerge from the other face ?

A) n<oasec[§)

A
B) n<sec (EJ
C) n>secA
A
D} n> COSEC(E'J

123. The critical angle for glass is 41°48’
- and that for water is 48°36’ . Calculate
the critical angle for glass-water

interface.
A) 62°43 B) 34°42
C) 5204 D} 44°42

124. In Young's double slit experiment, one
of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit, If L
is the maximum _intensity, what is the
resultant intensity when they interfere at
phase difference Q ?

A) %‘(1—80052%J
B) %E(H Bcosa-g-]

C) I—g.h -8cosQ)

D) _19,11_(1 - sinQ%J

122. 3f firem % & v W wehrer st S
® 3R qmt ored @ e T R, o staveE
e ?

A) n<cosec {g]

(A
n —
B) <sec(2}
C) n>secA

A
D) n>cosec (E]

123. =79 %1 Hifcsh F1 41°48" 3R 9+ 7
Sl 19T 48°36" B | Fw — TE F

$CTHY 1 SHifos ST 1 wifsra |
A) 62°43 B) 34°42
C) 52042 D) 44042’

124. T % w9 wefie W #, w whe g
wefle & forg @ | sfing o et & v
i R G Wl A gEA R ) eeR I
it fiar @ o, 59 98 OF %9 &
IR Q ¥ e w1 R, a9 qhom
i FT e R ?

A) %"-[1-— Bcosag]

B) %"’—[‘l + 80052522)

o) I_g.(uacoszc:)

D) %"(1 - Sinng

( Page No. 36 |
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125. Maximum kinetic energyofa 125, smafea fafteor i sk (f) & @ s

 photoelectron varies with the frequency B sae . aiferan i il
(F) of the Inc:dent radiation as gfafda 2 3, @
A) Ex A ! i - A) Ex A

o f i f
B}EK¢ r B) ExA

_ / g

T f :
C) Exp /
g G
D) Exf D) EK
> > i
f f
A . | PageNo;37.| -3EE
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- 126,

127.

128.

In Balmer series for hydrogen atom, find
the energy of photon corresponding to
longest wavelength.

A) 18.9eV
B) 3.03 eV
C) 1.89eV
D) 30.3eV

The half life period of a radioactive
element X is same as the mean life time
of another radioactive element Y.
Initially they have the same number of
atoms. Then

A) X and Y decay at same rate always

B) X will decay faster tlhan Y

C) Y will decay faster than X

D) X and Y have same decay rate
initially

Cobalt - 57 is radioactive, emitting
B-particles. The half life for this is 270
days. If 100 mg of this is kept in an

“open container the mass of Cobalt - 57

after 540 days will be
A) 50 mg

B) [%) mg

C) 25mg
D) Zero

126.

127.

128.

A Y@ § EIRGOA T % g,
Tod Wl qUTes &% "l o B F Fw
EIGETIEL!
A) 18.9 eV
B) 3.03 eV
C) 1.89 eV

D) 30.3 eV

e i e X s sfiawaet
o e qevse Y & ofvwa shamere
& U | YRS I 9 A g
H g & | T

A) X 3R Y T OF 8 R T @
B) Y s gern i X i & gear @

C) X gemr# Y oo & wrear 3

D) yeam & X 3R Y 1 T & s o

FETee — 57 Yeaudi @ St -t
IeESi AT § | R AT e 270 T
? 1 3R 9% 100 mg i G& ke 3 T
T 8, @ 540 R 9 e - 57 @
oL Sl

A) 50 mg

50
B) [_«EJ mg
C) 25mg
D) s

[f.Page No. 38 ]
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129.. In the circuit of figure, treat diode as 129, 35 i & gffe @ Teie % a1yl gafi,
ideal, current in the 4 Q resistor is 4 0 SRy I gr & 1

Ds% J’%Sn D, J i %an
AM- |

i I e é“ﬂ 20 ém

[12v T

12v
A28 P44 A) 2A B) 3A
12 30 12 30
C) - A D) 33 A C) = A D) 33 A

130. A travelling microscope is focussed on | 130, T T TR B w ¥ g

an:ink dot. When a glass slab (n = 1.5)
of thickness 9 cm is introduced on the o o ST @ ) ST 9 R, HieraTet

dot, the travelling microscope has to be H[E R (n = 1.5) HI forg T @ S
- moved by &, DA AR HI______ TIHidRa
A) 3cmupwards T 8 _ '
B) 5 cm upwards A) 33a. 9. Fw e 3t
'C) 3 cm downwards ' B) 5 8.7 Wi 3l
D) 5¢cm downwards C) 3&.Hi. 1 = 3R
i D) 5 3.4, = ain

131. A stationary object is released from a

pﬁ:tPadistaE_ci :;F{ fror;ithe :ent;e 131. R B 3t M sommma ?:i-;:.%; F2 8
of the moon which has radius R.an SHQﬁSPﬁ@ﬁRﬁﬂﬁ@gﬁm

mass M. Which one of the following X _ _
expressions gives the speed of the ST | % &z g i e

T T T T S e it 11 o T il e

object on hitting the maon ? q 1 |t atfieafaw anfdt & 7
Vé / V4 ( VA (
A) [ESHM B) 4GM A) 2GM B) 4GM
/ \ 3R \ 3R J \ 3R
2GM Y# (GM Y? (2GM Y2 (GMY?
C)[ R J D) k? C) \ R ) D) \?
A : [ PageNe:39 | 3EE ]
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132. A stream ¢:i water flowing horizontally

133.

134.

with mspeed of 15 ms~! gushes out of &
tubc af cross-sectional area 1072 m2and
hits. a vertical wall nearly. The force
exerted BN the wall by the impact of
water assuming it.does not rebound is

A) 2:25x10° N

B) 2Bx10°N

C) 3.0x10° N

D) 25x1%'N

Tws iden:ical charged spheres are
suspended by strings of equal lengths.
The strings make an angle of 30° willh
each other. When suspended in a liquid
of density @8 # a8 the angle remains

the same. If density of the material of the

sphere is 1.B g cm=3, the dielectric
constant of the liquid is

A) 1
B) 4
C) 3
D) 2

Anelectric field E = (2] + 3j)N/C
exists in'space. The potential
difference (Vp — Vo) between Wiy
points P and Q whose position vectors

132, grtshtamss 15 ms™ fa & 9 1072 m?

IR BE &I F AT ¥ TR W
6 HTt & 3N I IR 9 TR 2 |
Ffo&Y TE BT 48 AAd 5 9T & w9
8 dar X 991 & 21

A) 22510 N

B) m8x10°N

C) 3.0x10%N

D) 35%10*N

133. 3 THH ANE 9 &) §0H 596 F SR A
HehMT ST & 1 €T TH-gE ¥ 30°
0 s ¢ | 08 g cmS wea % s A
e ot v g9 o & | i 99
=1 Tt 1 vl M g e ®, @ FF T
A) 1
B) 4
C) 3
D) 2

134. E =(2i + 3]) N/C g &5 sverrar &
wteg 2 | forgem fRf afem 7 =1+ 2
3 =21 +j+k ¥, PalRgF <=

Fo=i+2] and fq =2 +j+k ig R (Vp-Vg) 2
A) =1V AJSUVEE
B) 2V B) Y
C) -3V C) -3¥
D) 4V D) 4%
A (FRageito.<40 | ImE
|
|
!
|
™
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135." In the circuit below, the potential
difference between A and B is

, | 190V

| | | | 3HF

| | I

1UF

A PB
1HF 3uF

Ay 10V B) 20 V
cyaoV D) 40V

136. A copper wire of 3 mm? cross sectional
area carries a current of 5 ampere. The
magnitude of the drift velocity for the
electrons in the wire, (Assume copper
to be monovalent, Mg, = 63.5 kg/k mol
and density of copper = 8920 kg/m?3)
A) 0.24m/s B) 0.12m/s
C) 2.4m/s D) 0.06 m/s

137. Two qug_ parallel wires placed 0.08 m
' apartcarry currents 3 A and 5 A in the
same direction. What is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero ?
A) 0.5m B) 0.04 m

C) 0.05m D) 0.4m

138. The relative permeability is represented
by p, and the susceptibility by % for a
magnetic substance. Then for a
paramagnetic substance

A) p,>1,%<0

C) u, <1,x<0 D) g, <1,x>0 |- C) u <1x<0
A (‘Page No. 41 | |

B) b >1x>0

135, TR Rumafte %, Al B =1

5t
.

faEieR 21

| 190V
i

_|| | |8kF
l Nl

=k

1uF 3uF
A) 10V B) 20V
iC) 30V D) 40V

136. 3 mm? I B2 St RN ANS SR
URT T FET T B | AR ¥ so F R
H9aTE W = frn %1 (7 =it
I AEREE 8, Mg, = 63.5 kg/k miok 3iR
I FHT 9 = 8920 kg/m?3)

A) 0.24 m/s B) 0.12m/s
C) 2.4m/s D) 0.06 m/s

137. 0.08 et & 31w 2 weft GuioR aR U &
R % 3 A 3¥k 5 A ur 757 Feh §) gEq
U %t F6 FaI] Sewel & el gad
FAR, Wigar gl R 7
A) 0.5m B) 0.04m
C) 0.05m D) 0.4m

138. TTde Yerersiierat M, RT I T R aik
gaehta e % foe ddemsfierr x 21

s v & R
A) u,>1%<0 B) u,>1,%>0
D) u <1,%>0
3EE

3

|
j
;}
1

R i

T

U N
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- 188.

140.

141.

A transformer of efficiency 90% has
turns ratio 1 : 10. If the voltage across
the primary is 220 V and current in the
primary is 0.5 A, then the current in
secondary is

A) 55 A
B) 5A
C) 4A
D) 45A

A 1 cm height needle is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the
image is

A) 1cm

B) 0.66cm
C) 0.33cm
D) 0.5cm

If @ is the polarising angle for two optical
media whose critical angles are C, and

139.

140.

141.

90% FATE ZEHIH 1 &4 3779 d 1: 10 .

2 1 aft wuftes gm0 deew 220 vV & 3k
Wt F a7 0.5 A R, o R

ury ® |

A) 55A
B) 5A
C) 4A
D) 45A

0.05 m B it & I9W 24U § 0.1m
F gl W 1 cm it gd = tar w R, @
wfafea =1 3R -

A) 1cm
B) 0.66 cm
C) 0.33cm
D) 0.5 cm

af < STRene wreami w1 gt AT 6
3, R i o C, 3R C, 2wt

C, then the correct relation is &Y (!
A) sinB= :’;gf A) sin@= :’;g’f
oo 05
©) e o ©) tano= 510
D) sin®= :i': g_z D) sind= :::g;
| Page No. 22 ) 3EE
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CollegeDekho

https://exams.freshersnow.com/category/entrance-exam-question-papers/



142, Two thin lenses have acombined power | 142, 2 wod v 41 daws &% +0D 3| & |

of +9D. When they are separated by a
* distance of 20 cm, their equivalent 3% 20 7. it g & rem fr wmw f

. 27 i
power becomes +—253|3. then their ST e +—5-D nmtt,
individual powers are T ST A A R
A) 6D and 3D A) 6D #ik 3D
B) 6D and 4D 2) :g 2: :E
C)9Dand3D )
: D) 8D 3k 6D
D) 9D and 6D
R : 143. af¢ et & i)
143. lf the mass shown in figure is slightly i il
= foreenfra e s @ ok fe 9 R
displaced and then let go, then the : 2 @ 5 s _
system shall oscillate with a time DB e .
e o |y S 8 |

- m

m A) JE
A) 2::‘]% _ ) 2 |
| 3m B) 2 1’3'3
£ B) on =2 Jran \
) o X ,
’Zm C) 2 F’ﬂ |
C) 2n e ) 2n % . 1
a1 3K D) 2 JE {
D) 2r—-" " : L2 _;
A [ Page No. 43} it . JBE
e i G

N
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144. InYoung's double siit experiment, using
a monochromatic light of wavelength 3,
the intensity of light at a point on the
screen where path difference is ), is K
units. Then the intensity of light at a point

where path difference is % is

K
A) 5
B) 2K
C) 4K

D):

145. The tempefatl.lreco-efﬁcientof resistance
of a wire is 0.00125/°C. Its resistance is
1Q at 300 K. At what temperature, its
resistance willbe 2Q ?

A) 1127 K
B) 854 K
C) 1217 K
D) 1154 K

146. If the vertical component of earth’s
magnetic field at a place is /3 times

144, 3 4t oo whe war 8, A W *
AR e & T @ GhF &
forg w1l 9y R A ¥ Ty

eftsen K seprsat 1 4 el o i A &
! W ) e gl

K
A) 3
B) 2K

C) 4K

K
D)E

145. TR QY 1 aT9Hm= 1015 0.00125/°C
%1 300 K W 35 wfdy 1Q 2) fra
AITH I I5ehT Sfedy 2. Q g 7

A) 1127 K
B) 854 K
C) 1217 K
D) 1154 K

146. IR Frelt vum W geeht ) Jabw &9 =1
e w30 A wew @ /3 TR,

e | Rm——
29,607 A) 60° !‘
B) 45° B) 4&°
6) ) 3 |
D) 15° D) 15° I;
A [Page No. 44 ] 3EE |
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i
147 .An electron and t te Emg
. a proton enter a 14 e ERLoT <
magnetic field perpendicularly both i i e g MM |
have same kinetic energy. Which of g SR & 3 T WA w E) I’
the following is true ?° Feffm i P madd ? '
A) Trajectory of electron is less curved A) T Y T&T-9Y 7 gATER & ,
B) Trajectory of proton is less curved B) Wi ! W&9-Y F gHERR 2 !
C) Both trajectories are equally curved C) il &9~ T garaer & |
D) Both move on straight line path D) 2 et Yan 9y W were & :
148. The reason a moving coil galvanometer Jerdt Hee Nednfier 1 39 |
cannot be used with an alternating - : i .y i
cument is that Sl 9T & A AE o - e R, !
A) The coil bends easily i _' |
B} The coll heats up too much A) FE9 ST @ g 8 4-
C) Sparks can be produced B) e wga st e & a;
D) The net magnetic field produced is C) fommrdt Fmfor &t wareht 2 |
zero D) Y15 =iz &3 =1 fomior g &
149. Select the output Y of the combination O
of gates shown in figure for inputs A=1, 149 ﬁqﬁﬁﬁmmﬂz% o
B=0;A=1,B=1andA=0,B=0 ¥EA=1,B=0,A=1,B=13RA=0,
respectively. B = 0 % fo7q amsege ¥ &1 = ¥ |
- B
O T | D |
- DA
; . |
C; E?::J B) (1,0,1) A) (0,1,1) B) (1,0, 1) l
1 by } D} (1;0n0) C) (1’1'1) D) (1’0'0) i
150. The minimum number of geostationa |
satellites required for uninterrupted Y| 150. Rrrese it waw e e |
global coverage is Foreet el it e wem % i
:;g B) 5 A) 3 B) 5 ;
D)o C) 7 D) 9
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Answer Key
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Answer Key for 3EE (Set-A)

Q. No.

Answer Key

51
52
53
54
95
o6
57
58
99
60
61
62
63
64
65
66
67
68
69
70
71
12
73
74
75
76
i
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
84
g5
96
97
98
99
100
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101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
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